1 1
Calculate the standard enthalpy of formation of PCli(g) in kJ/mal

d 112Py(s) + 3Cly(g) — 2 PCly(g) AH = -639.4 kJ

out of Note: most stable form of P element is Py(s).

Selec! one:
O a.0.00

O b.-287,0
O c. -213.1
O d.-319.7
O e.-6394

CamScanner = Wigs d>guwaall



.Zb_lj_ﬁ_QQ{_gr (a) )

- -319 .7 K Jhued

CamScanner = Wigs d>guwaall



-RAL CHEMISTRY [/ el asen

A mixture of gases containg 4.7 rnululH_-gnrd?Thﬂﬂfﬁfgﬂ-ﬂﬁlﬂlﬂpﬂﬂﬂﬂhﬂﬁ#ﬁmijnmﬂﬂ
wauld ba the partial pressure of Ny (in atm ) 7

Solocl onn;
i O a. 004

0 b.10
O ela
O d28
O e.18

CamScanner = Wigs d>guwaall
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— MAC = D7 o (‘17::_2.—;‘7
.P_T = 22X o XN?L»ARS
of
(PN = A Pey

P/U‘;_;- O3S @O R

P/UQ-:-— l‘?gi‘f_ .8 atm
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| Cuestion 5
f . What is the enthalpy (in kJ) of the following reaction at constan! pressure?

iwa
answored CHs(gl+ NHilg) — HCN[g) + 3H3lg)

:-*;Wﬂ of Use the following thermochemical equations:

T Flag Na(g)+ 3Hi(g) — 2NHs(g) AH=-918k
| aesion C(graphite) + 2Hs(g) —  CH.(o) AH= -T48 1

Halg) +2C(graphite) + Nzg) —- 2HCNlg) AH=42703 Kl

Selec! one:
O a.-3019

O b, +164.2
(0 ¢ +103.6
O d.+253.3
Q) o +250.0
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) cHy —3 C + I}l DY = 79 .9
2) by —> SoHo A Yk s Yo g
% 2~ -

,[XH = DH! —~ /;J.‘b’* /\4'(3
NH = 254.0
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A 0,590 gram of volatilo liquid was vaporized ot 86 "C and expanded in 200 ml flask at BOD mmHg. Caloulate the molal
mass of this liquid in g/mol.

R = 0,082 aim.L/molK or B8.314 kg m/s? K:mol

Solocl ono:
() a. BAD

O b.GBA
O ¢ 73.0
O d.60.7
O e.781
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Muw

PV

A1) 570 9 « .02 ¥ (A6+273,5)

Iy

\. 5S3 gk ® 22

[/L/q/: 2"/. BS_/MQJ
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AL CHEMISTRY |/ el grea

The volume of certain amount of nitragen at 23°C and 746 mmHg is 10.1 em® . What is the voluma of ritrogen al 25 °C and
B20 mmHg 7

Solact ono;
O a 080

) b. 0B854
O e.10.2
O d 1.0
O 0.925
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= s N~ e
s IR . T - =93+ 973 L
}_/; Lo ke Qo = 294 K-
.D (O (;('/6 mmHg{ k lf“]l'm = _%__
780 pmhy . W
Gy = o = 998 \«°
< -
?L = R0 W\W\Hﬁ & _\aim = l.o™A9 r‘{‘!' m
76'0 mW\H\ill} _:
A\~ — :
___PI ~ = PQ \/n
_T‘ LAY TD._U\L
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ERAL CHEMISTRY |/ il gaen

Caleulate the rms speed (in m/s ) of He (molar mass =4.0 g/mol) molecules in a cfinder at 27 °C and 8.7 atm.

R = 0.082 atm.LU/maol K or 8.314 kg-m¥is?-K-mol

1ol
Select one:

O a. 406.0
O b 136.0
O ¢ 1367.7
O d.128
O o.428
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Esy
[___H_f:_\, maloy oS = ('f 3/mo, \&
_~ Y a0 Kg /mol
— 7 # 35
1 = z;ce"

= 00 IK°

U/fims = /%E R s
Mo

{

IL%_'*“BOO & 0221 = 134 \M}i

.,/ Y 10>
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NERAL CHEMISTRY I/ ol gaea

on 10

Which of the following statements Is incommect according 1o the molecutar kinelic theory?

Salect one:

® a2 Gas molecules frequently collide with one another by inelastic collisions. w
O b. Gases are composed of molecules whese size is negigble compared with the average distanca between
O c. Gas molecules exert neither altractive nor repuisive forces on one another,
O d. Gas malecules are in constant mction in random dr ections.

O u.mawngnﬁutinnmgydhnﬂnhhpmmwmhmmﬂmwhm

LT P Y e

The work done when a gas is compressed in a cylinder is 360 J. During this process, Pers s & heat ransler of 173 J from
tha gas lo the surmoundings. Calcutate the energy change for this process (in J)

Select one:
@ a2 +539

O b.-539
O ¢ +193
O d +732
O o183
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Accnrtjnnq_adim tollowang roact what volumo of 0244 M
KCI nolution is rog C with 500 mil of 0.0

Oussation 2

reot yert

£, paeap ayel FIT S } oguoal to

tArreee] co it of

S %
106 [_1, ) Jq. 'i-:. oo
¥ g Aravwior B3 ~ S

[# SN st
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.-
- 2 K(;L + Pb (/)03)2—%?}96[2 + ,‘?K /\)03

. V(ke)="> [ kell= 2uuM
V(Pb(,t)@)) _50.0X16° L 5 [Pb Quos)j___.,.ﬂlo}l

rSolu\Lion -

-3
— 0 X|O
M = e RS (?b Vbﬁ)"ﬂo X 50.0 X|
v’éoll /’—;""\D

.ol mol oF Pb{NOs) X~ 2 mol 1 E
| mol of (wa‘?’)z

_.022 mol of Kcl

V (kCLJ = .092 mol _ 090 9
.QL;L,LLOL C
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yuestion 2 Sl Fa= LR T | e 1‘ L i
NOot yet ‘
snswered molecules hmue a rnot maoan squmre Speeci {rrns aqual to

that of Oc (32 00 g,’rn@!ﬁ) molcculaes at 236
Marked out of

e , @2 D W B
?v ’lﬂg Anr-nrcr: """ -: - »
Question L . | f;;ﬂlgi..-- i
I:- " ll | ~L 1 i ;- F
AN v

Quies o 3 Prochict the I']:‘:":I'_':I[ﬁ:TCI‘._‘.'_’! '”."'”n] f:‘li“f"‘-".l“‘lii rccaction:
 J i L
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I
3 Pradict the procipitatolin ll'u:r Tollowing reaction:

| CaClz + Hga(NOg), -~ ‘ ; |
|}

it of
AnNswoer:

S
L&
4
S S vl produca g gas whoen rcacted veith HCH
i
out of
I
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[

'}l-"-:?rvn?

R— A1 what tempearatura in °C will a fixod amount of gas with a
I VIV €3 volumMe of 197 | at 15°C and 760 mMmig occupy a volume of
Ay h el on et o 188 1 &t o pressuro of 640 Mmm Hg?

Oc
¥ fio
e Ve

& L
Finish attempt _

#¥ S
— h
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Solid (Pfacfr:i Lal—e)
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Queston ?

Mot yet
CHNSWesrasel

Mcirkedd out of

200

¥ liag

QUi 0N

s

How many grams of oxygen, O, (Mm=32.0g/mol), arec thare

in a 36.0 L gas cylinder at 20.0°C when the nxygcn pressure " ' 0
is 1919 kPa? | |

Answecor:

A
- L

what temperature in”"C vwill a {ixed aniount of gas with a

lumic of 197 L at 15°¢ ur"ri 780 mymHg occupy a volume of

25 Lat apressure of 849 mim Hg?
\

|"|.
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‘Question T
Mot ye!
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200

¥ Fiag

Predict the pregipitate
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Q6:-
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e
P in alm = 1919 kPq x 9-869X10 Qt-m — 129 abwm

Lo -
MAT 1

ol == 10l 335 kPo

?\/;—nRT

n=£ 1849 akmix of 9 Sin ¥ NS
.0821% XA3 K

m =) )(/u(w — 92-0X232.0 =2°léj

,r\//’\/\/'VN
Q- (MU, ), S0, +AJNCs —>

Aj SO, wil Preci?iwf@“

21, 75 Lol 50 -
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Choosc. = | will produce a gas when reacted with HCI

oo out of

KOH
AgOH

e Hg2C12 | |
Zn(OH)2 r ‘
Ag2504 | L s |
s )

. NaHS04 ] l | | {
tion D | calor)? irmaoilcs of Lildi t: Gontanadct i 258.6 mL of
ot O0295 Al solution? | | | ’ |
SRS l ’

|
il
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iestion O Howv ITICH'Iy n"i”iﬁ‘\calog

of Lil are containad N 258.6 mil. of
T yet 0.0296 M Lil solution?
swered
Irked oyt of
0 ANswer: 7.65
: Hl_xr;]
12Sthian
1-27
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pliay S Llensa g TR E I T S s b i s et st IR HEHITRN
]..'-_. .:: -_'-._ _:-_é ey : y [ IER1 [ 111
e 2 Accordmg to the follownng reaction, what volume of 0244 M

P "~ KCl solution is required to react exactly with 50.0 mL of 0.210°
| 2 M Pb{NO3)2 solution?

out of - ' '
o= 2 xci{aa) * Pp(NO3)2(ag) — PbCi2(s) + 2 KNO3(aq)

—— ANSWen EESR

= z ol -
s s I
e Tt W W -
— - H [ = -4
Baw oy B

AT wihat tCM Do rature: 40y KAansoisoe {2: 148.¢

# w

Naliaslallal

Rt By -] L] L | i
Ta—
= - - - el - = e o P = 1 " [
= mMoicculos Nave O FEeT Ut SCfanTgMB ool (rnts )} cqudal 1o
=
7o et aof s (22 00 cfrnoic) rmofciug®s G 236 &7
LIVCIT OT Lo L oL U - A - d . v gt -

!l-l' l'l.r
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T i R ——

AR £
R E ey i Y
Nhgs = At what temperature in K would O5 (49 00 g/'mole) mqléc_me's have a rool mean square speed (rms) equal
: to that of O, (32.00 g'mole) molecules at 266 K?. | o
ol
th uT } E-— SRl 33 i S o o UL il B L L - 1
| Answer. 1 | o
4 TS . 80909009000 i
; : |

How many grams of sodium (23g mol)are re wired 1o produce 2000 of hydrogen gas atd 0 *C and 750

lari?/
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